Sadly the day of the week variable (DAY) contains an error for the UK 1983-1984 survey contains errors.

While we will fix this with a future release, the following code will address the problem from the current data.

SPSS code to fix the error

*error in the generation of the day of the week - fix this here to match back to the aggregate file.

*the dates checked against timeanddate.com for this recode. The diaries collected in September, November,

*and December 1983, and January & February 1984 - only need to use the months and not year as in this case

*as there is no overlap of any month across a year.

cro month by year.

Do if month=9  and (cday=4 or cday=11 or cday=18 or cday=25).

   compute day=1.

Else if month=9  and (cday=5 or cday=12 or cday=19 or cday=26).

   compute day=2.

Else if month=9  and (cday=6 or cday=13 or cday=20 or cday=27).

   compute day=3.

Else if month=9  and (cday=7 or cday=14 or cday=21 or cday=28).

   compute day=4.

Else if month=9  and (cday=1 or cday=8 or cday=15 or cday=22 or cday=29).

   compute day=5.

Else if month=9  and (cday=2 or cday=9 or cday=16 or cday=23 or cday=30).

   compute day=6.

Else if month=9  and (cday=3 or cday=10 or cday=17 or cday=24).

   compute day=7.

Else if month=11 and (cday=6 or cday=13 or cday=20 or cday=27).

   compute day=1.

Else if month=11 and (cday=7 or cday=14 or cday=21 or cday=28).

   compute day=2.

Else if month=11 and (cday=1 or cday=8 or cday=15 or cday=22 or cday=29).

   compute day=3.

Else if month=11 and (cday=2 or cday=9 or cday=16 or cday=23 or cday=30).

   compute day=4.

Else if month=11 and (cday=3 or cday=10 or cday=17 or cday=24).

   compute day=5.

Else if month=11 and (cday=4 or cday=11 or cday=18 or cday=25).

   compute day=6.

Else if month=11 and (cday=5 or cday=12 or cday=19 or cday=26).

   compute day=7.

Else if month=12 and (cday=4 or cday=11 or cday=18 or cday=25). 

   compute day=1.

Else if month=12 and (cday=5 or cday=12 or cday=19 or cday=26). 

   compute day=2.

Else if month=12 and (cday=6 or cday=13 or cday=20 or cday=27).

   compute day=3.

Else if month=12 and (cday=7 or cday=14 or cday=21 or cday=28). 

   compute day=4.

Else if month=12 and (cday=1 or cday=8 or cday=15 or cday=22 or cday=29).

   compute day=5.

Else if month=12 and (cday=2 or cday=9 or cday=16 or cday=23 or cday=30).

   compute day=6.

Else if month=12 and (cday=3 or cday=10 or cday=17 or cday=24 or cday=31).

   compute day=7.

Else if month=1  and (cday=1 or cday=8 or cday=15 or cday=22 or cday=29).

   compute day=1.

Else if month=1  and (cday=2 or cday=9 or cday=16 or cday=23 or cday=30).

   compute day=2.

Else if month=1  and (cday=3 or cday=10 or cday=17 or cday=24 or cday=31).

   compute day=3.

Else if month=1  and (cday=4 or cday=11 or cday=18 or cday=25).

   compute day=4.

Else if month=1  and (cday=5 or cday=12 or cday=19 or cday=26).

   compute day=5.

Else if month=1  and (cday=6 or cday=13 or cday=20 or cday=27).

   compute day=6.

Else if month=1  and (cday=7 or cday=14 or cday=21 or cday=28).

   compute day=7.

Else if month=2  and (cday=5 or cday=12 or cday=19 or cday=26).

   compute day=1.

Else if month=2  and (cday=6 or cday=13 or cday=20 or cday=27).

   compute day=2.

Else if month=2  and (cday=7 or cday=14 or cday=21 or cday=28).

   compute day=3.

Else if month=2  and (cday=1 or cday=8 or cday=15 or cday=22 or cday=29).

   compute day=4.

Else if month=2  and (cday=2 or cday=9 or cday=16 or cday=23).

   compute day=5.

Else if month=2  and (cday=3 or cday=10 or cday=17 or cday=24).

   compute day=6.

Else if month=2  and (cday=4 or cday=11 or cday=18 or cday=25).

   compute day=7.

End if.

cro day by dayold.
STATA code which fixes the error for most cases

gen dayx = .

replace dayx = 1 if month == 11 & year == 1983 & (cday ==6|cday==13|cday==20|cday==27)

replace dayx = 2 if month == 11 & year == 1983 & (cday ==7|cday==14|cday==21|cday==28)

replace dayx = 3 if month == 11 & year == 1983 & (cday ==1|cday ==8|cday==15|cday==22|cday==29)

replace dayx = 4 if month == 11 & year == 1983 & (cday ==2|cday ==9|cday==16|cday==23|cday==30)

replace dayx = 5 if month == 11 & year == 1983 & (cday ==3|cday ==10|cday==17|cday==24)

replace dayx = 6 if month == 11 & year == 1983 & (cday ==4|cday ==11|cday==18|cday==25)

replace dayx = 7 if month == 11 & year == 1983 & (cday ==5|cday ==12|cday==19|cday==26)

replace dayx = 1 if month == 12 & year == 1983 & (cday ==4|cday ==11|cday==18|cday==25)

replace dayx = 2 if month == 12 & year == 1983 & (cday ==5|cday ==12|cday==19|cday==26)

replace dayx = 3 if month == 12 & year == 1983 & (cday ==6|cday==13|cday==20|cday==27)

replace dayx = 4 if month == 12 & year == 1983 & (cday ==7|cday==14|cday==21|cday==28)

replace dayx = 5 if month == 12 & year == 1983 & (cday ==1|cday ==8|cday==15|cday==22|cday==29)

replace dayx = 6 if month == 12 & year == 1983 & (cday ==2|cday ==9|cday==16|cday==23|cday==30)

replace dayx = 7 if month == 12 & year == 1983 & (cday ==3|cday ==10|cday==17|cday==24|cday==31)

replace dayx = 1 if month == 1 & year == 1984 & (cday ==1|cday ==8|cday==15|cday==22|cday==29)

replace dayx = 2 if month == 1 & year == 1984 & (cday ==2|cday ==9|cday==16|cday==23|cday==30)

replace dayx = 3 if month == 1 & year == 1984 & (cday ==3|cday ==10|cday==17|cday==24|cday==31)

replace dayx = 4 if month == 1 & year == 1984 & (cday ==4|cday ==11|cday==18|cday==25)

replace dayx = 5 if month == 1 & year == 1984 & (cday ==5|cday ==12|cday==19|cday==26)

replace dayx = 6 if month == 1 & year == 1984 & (cday ==6|cday==13|cday==20|cday==27)

replace dayx = 7 if month == 1 & year == 1984 & (cday ==7|cday==14|cday==21|cday==28)

replace dayx = 1 if month == 2 & year == 1984 & (cday ==5|cday ==12|cday==19|cday==26)

replace dayx = 2 if month == 2 & year == 1984 & (cday ==6|cday==13|cday==20|cday==27)

replace dayx = 3 if month == 2 & year == 1984 & (cday ==7|cday==14|cday==21|cday==28)

replace dayx = 4 if month == 2 & year == 1984 & (cday ==1|cday ==8|cday==15|cday==22|cday==29)

replace dayx = 5 if month == 2 & year == 1984 & (cday ==2|cday ==9|cday==16|cday==23)

replace dayx = 6 if month == 2 & year == 1984 & (cday ==3|cday ==10|cday==17|cday==24)

replace dayx = 7 if month == 2 & year == 1984 & (cday ==4|cday ==11|cday==18|cday==25)

